
 

Paper: 1MA1/1F 

Question Answer Mark Mark scheme Additional guidance  

14  14742 M1 for complete correct method with relative place value correct eg 

two lines of 1st method, internal numbers of grids, or complete 

structure shown of partitioning methods 

 

 13650 

   1092 

 14742 

 

 2 7 3 

 

  1 1 0 3 5 1 5 5 

4 0 8 2 8 1 2 4 

 7 4 2  

 

 

 

 

 

 

10000 + 3500 + 150 + 800 + 280 + 12 = 

14742 

 

 200 70 3 

50 10000 3500 150 

4   800   280   12 

   M1 (dep on M1) for addition of all the appropriate elements of the 

calculation 
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